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Exercice 1 (Dériver)

f1(x) =
(

x2

ln(x5)

)3

, f2(x) = sin(cos2 x), f3(x) =
√

1 + 1
x2 ,

f4(x) = arctan
( 1

x3

)
, f5(x) = exp(tan(2x)), f6(x) = 1

cos(cos x) ,

f7(x) =
√

1 +
√

1 + 4x, f8(x) = 1
x2 + 1

5∑
k=0

xk.

Exercice 2 (Intégrer)

I1 =
∫ π

0
t3 cos tdt, I2 =

∫ 2

1
t ln tdt, I3 =

∫ 3

1

ln t

t2 dt, I4 =
∫ 1

0
t2e−t3dt,

I5 =
∫ 4

0
e−
√
tdt, I6 =

∫ 1

0

√
1− t2dt, I7 =

∫ 1

0

t√
2t + 1

dt, I8 =
∫ 2

1

e2t

1− etdt.

Exercice 3 (Inverser)

P1 =
(

2 1
3 4

)
, P2 =

(
5 1
1 −1

)
, P3 =

0 1 0
0 1 1
1 0 0

 , P4 =

3 1 −1
2 0 5
1 −1 0

 ,

P5 =


3 5 2 1
0 3 1 6
0 0 2 1
0 0 1 2

 , P6 =


1 2 3 4
2 3 −1 0
−1 1 0 0
3 0 0 0

 , P7 =
(

a b
c d

)
où ad− bc 6= 0,

P8 =


1 + a 1 1 1

1 1 + a 1 1
1 1 1 + a 1
1 1 1 1 + a

 où a ∈ R \ {0,−4}.
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Exercice 4 (Développer)

1) DL3(0) : x 7→ 1
1− x

− ex 2) DL4(0) : x 7→ cos(x) ln(1 + x)

3) DL5(0) : x 7→ (cos x)sinx 4) DL4(0) : x 7→ 1
cos x

5) DL6(0) : x 7→ ln(1 + sin x) 6) DL5(0) : x 7→ arcsin x− arccos x

7) lim
x→

>
0

xx
x ln x

xx − 1 8) lim
x→+∞

(
ln(1 + x)

ln x

)x lnx

Exercice 5 (Calculer les dérivées partielles d’ordre 1 et 2 )

f1(x, y) = exy2 + x3, f2(x, y, z) = cos(xy − z), f3(x, y) = sin(sin(x− y)),

f4(x, y) = y

ln(1 + x2) , f5(x, y) = x− y√
1 + x2 + y2 , f6(x, y) = ey−x

ch(x + y) ,

f7(x, y, z) = xy
z pour x, y > 0, f8(x, y) = g(x2 + 2xy, ye−x, y) où g ∈ C2(R3).
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